© GOVERNMENT OF TAMIL NADU 2011

[Regd. No. TN/CCN/467/2009-11. [R. Dis. No. 197/2009.

[Price : Rs. 1.60 Paise.



# TAMIL NADU GOVERNMENT GAZETTE

**PUBLISHED BY AUTHORITY** 

No. 49]

CHENNAI, WEDNESDAY, DECEMBER 28, 2011 Margazhi 12, Thiruvalluvar Aandu–2042

# Part VI—Section 3(a)

Notifications issued by cost recoverable institutions of State and Central Governments.

NOTIFICATIONS BY HEADS OF DEPARTMENTS, ETC.

**CONTENTS** 

Pages.

## **GENERAL NOTIFICATIONS**

TAMIL NADU WAKF BOARD, CHENNAI

Wakf Act—Survey Report of Hazarath Sulthan Syed Ibrahim Shaheed Oliyullah Dargah, Erwadi, Ramanathapuram District and its Properties .. .. 158

158-16

# NOTIFICATIONS BY HEADS OF DEPARTMENTS, ETC.

#### **GENERAL NOTIFICATIONS**

TAMIL NADU WAKF BOARD, CHENNAI.

(Rc. No. 17061/78/B3/RMD)

Survey Report of Hazarath Sulthan Syed Ibrahim Shaheed Oliyullah Dargah, Erwadi, Ramanathapuram District and its Properties.

No. VI-3(a)/168/2011.

In exercise of the powers conferred by sub-section (2) of Section 5 of the Wakf Act, 1995 (Central Act 43/1995) the Tamil Nadu Wakf Board hereby publishes the Wakf Hazarath Sulthan Syed Ibrahim Shaheed Oliyullah Dargha, situated in Erwadi Village, Kadaladi Taluk, Ramanathapuram District as Sunni Wakf as per the Survey Report forwarded by the Government of Tamil Nadu as in the annexure.

Chennai-600 001, 18th November 2011. TURAB AHMED, Chief Executive Officer, Tamil Nadu Wakf Board.

#### FORM-I

(See Rule 2 of the Tamil Nadu Wakfs (Report of the Survey Commissioner Rules 1998)

1. Serial : 01

2. Name of the Taluk : Kadaladi

3. Name of the Village : 45. Erwadi

4. Name of the Wakf and Category (whether Sunni : Hazarath Sulthan Syed Ibrahim Shaheed Oliyullah

or Shia) (with complete postal address)

Durgah (Sunni Wakf)

 Wakf Deeds, Title Deeds, Patta Number and Dates, Nature of the Wakf (whether Pious, Religious or Charitable or Wakf by user Mashruthulkhidmet or Wakf

alal aulad)

6. Object of the wakf and conditions of grant : For performing Fathiha and to conduct sandal Urs

Festival as detailed below:—

: In the month of Thulshahitha Every Year.

: 1. From Pirai 1 to 10th day - Moulooth

: 2. On Pirai 10-Flag Hoisting (Kodi Etram)

: 3. Pirai 22 - Sandal Urs

Not available

: 4. Pirai 29/30 - Kodi Irakkam.

7. Name of the Beneficiaries, if any and their addresses : Nalla Ibrahim Male Descendants

8. Detailes of Administration, Name of Mutawallis / President or Patel or Managing Trustee or Secretary

and their address.

9. The rules of succession to the office of the Mutawalli and whether it is under the wakf deed or by custom or

by usage or order of court or by the Tamil Nadu Wakf Board

 Particulars of each wakf properties comprised in the wakf, with (Xerox copy duly attested) title deeds, documents along with patta field map relating there to

description, extent value of each item.

(a) in case of Landed Property, description, extent, classification whether wet, dry, garden etc., value, annual income, taxes, etc. of each property. Ibrahim Levvai Kalifa Levvai Land, Ervadi-their-623 515.Hereditary as per the scheme ordered by the Court in

Kalifa M. Varusai Ibrahim Levvai, son of Late Mohamed

O.S. No. 236/78 on 27-4-1989 on the file of the Sub-court. Ramnad at Madurai.

Sub-court, Ramnad at Madural

Furnished in Annexure-I

20.

22.

survey.

(ii) If not sanctioned by competent authority action

Details of additional property acquired after the last

taken to retrieve the property.

Other relevant particulars of the wakf

Buildings of shops or Panchayat or Municipality or Furnished in Annexure-II Corporation Serial Number, Door Number, Value, Annual Income, Taxes Paid and correct postal addresses of each property and movable properties. Nil (c) Encumbrances, if any, on the properties mentioned in (a) and (b) 11. Total present market value of the properties of the wakf Rs. 2 Lakhs Land Rs. 2,76,600/-**Buildings** Rs. 7 Lakhs 12. Gross income of properties comprised in the wakf (itemwise income viz. Hundial collection, subscription, donation, Qurbani Skins, yielding of crops etc. Rs. 84,000/-Amount of land revenue, cesses, rates and taxes payable in respect of the properties Land Revenue Assessment (i) (ii) Quit rent Cesses (iv) Rates Taxes (v) Total Net income of the wakf for the purpose of contribution Rs. 6,16,000/- divided by the 126 Hugdars as per (Column 12 minus 13) Court Order. Gross expenditure incurred in the realisation of the Nil income 16. Regular recurring items of expenditure in the wakf for No. remuneration is paid to Muttavallis or other Hugdars / The balance of the Income after deducting all expenses Pay and other remuneration of the beneficiaries, is divided among the 126 Hugdars. Muttavallis or other individuals. (ii) Purely religious purposes (iii) Purely charitable purposes (iv) Any other purposes 17. Net income for purposes of wakf fund (column 14 Nil minus 15 and 16) Whether wakf is administered at present by a scheme Settled by the Court of Law settled by court of law or by established custom or usage or election 19. Details of Property-Agricultural or Residential or Nil Commercial. (i) Description of Property-agricultural or Residential or Commercial (ii) Period of lease (iii) Lease amount (iv) Authority sanctioning lease Nil Details of immovable property alienated since the inception of wakf and authority if any sanctioning alienation.

Nil

Nil

23. Any other: From the average Hundial collection of Rs.7 Lakhs estimated on actuals, 12%, (i.e.84000/- is spent for poor feeding and development activities. The rest of Rs. 6,16,000/- is being divided among the 126 Huqdars leaving no balance.)

# ANNEXURE-I Immovable Property

Details of lands registered in the Name of "Nirvaga Sabai"

Servey No.	Classification	Extent (in. Hect.)	Assessment (in Rupees)	Patta No. and Name
(1)	(2)	(3)	(4)	(5)
407/1	Natham Manai	0.0505	6.00	Kuthbu Sulthan
407/3	Natham Manai	0.0620	7.00	Syed Ibrahim
407/4	Natham Manai	0.0610	7.00	Shaheed
407/5	Natham Manai	0.0660	7.00	Oliyullah
407/10	Natham Manai	0.0225	3.00	Dargah Haqdar
407/11	Natham Manai	0.9400	94.00	Nirvaga Sabai
516	Natham Manai	0.3700	337.00	Erwadi Dargah
	Total	4.5720	461.00	

### **Details of Buildings:**

SI. No.	Details	No. of Shop/House	Approximate value in Rs.	Total Value in Rs.	Approximate Annual Income in Rs.
(1)	(2)	(3)	(4)	(5)	(6)
1	Shops	38	6,000/-	2,28,00/-	48,000/-
2.	Line Houses	07	3,000/-	21,000/-	24,000/-
3.	Line Houses	09	3,600/-	32,400/-	36,000/-
4.	Public Toilet (Old	d) 01	5,000/-	5,000/-	
5.	Neem Trees (Yo	ung) 15	100/-	1,500/-	
6.	Coconut Trees	10	300/-	3,000/-	1,200/-
	Total .	80		2,90,900/-	1,09,400/-

# ANNEXURE-II

## **Movable Property**

SI. No.	Details S	No. of hops / House	Approximate Value in Rs.	Total Value in Rs.
(1)	(2)	(3)	(4)	(5)
1.	Wooden Table	02	1.500/-	3,000/-
2.	Steel Table	02	1,000/-	2,000/-
3.	Plastic Chairs	06	200/-	1,200/-
4.	Wooden Long Bench	n 02	500/-	1,000/-
5.	Floor Table (Old)	01	200/-	200/-
6.	Godrej Bureu (Old)	02	1,500/-	3,000/-
7.	Wooden Bureu (Old)	02	1,000/-	2,000/-
8.	Generator (Old)	02	3,000/-	6,000/-
9.	Pumping Motors (Old	d) 02	3,000/-	6,000/-
10.	Tube Lights	65	70/-	4,550/-
11.	Sodium Lights	06	400/-	2,400/-
12.	Oridinary Bulbs	50	10/-	500/-
13.	Fans (Old)	15	300/-	4,500/-

Chennai-600 001, 18th November 2011. TURAB AHMED, Cheif Executive Officer, Tamil Nadu Wakf Board.